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The Hashemite University Student Name: F v

Second Semester 2018/201 tﬂcﬁ&@) Student Numbes

March 28, 2019 Second Exam Serial Number: 201}
Time: 1 hour Lecturer Namei

Y

1 ]2 ]3]4]6]6]17]81l29 \J
A AJ]A]A A [Z A | A :‘
B| B |B| BB B | B | B

C CCCCCC/G"
DI D]ID|D[DI[|D]|A D | D D 2©
EJEJTEJEJEJE]E]|E ¥
F = F F| F | F I F_)

Dl: g B!
Problem(1): Choose the correct answer nnd mark it with an (X) in thﬁ'nhovo table. (2 points each)
1). The center of the circle r = —4 s8in(f) + 3 cos(f) is:

A(-34)  B@-) @G- b(P-2 eE3-) FED
2). Find the limit of the sequence an, = In(2n? +- 3n) — 2In(2n + 1)
A3 B. C. In(4) D. —In(4) g. In(2) F. —In(2)

3). The integral that represents the area of the region inclosed between the curves ; = 2sin(0) and 7= /3 is given by

x/2
A, [ (ri—r3)do J' d0+f E. _fr?de- _f
=/3 /3 x/0
/2 /3 /2 /6 :f'l x/6
B. [rid0+ frgdﬂ D. _rr?d0+j'r§da F. | dﬂ+j‘
n/3 /6 x/6

d). Find the first term of the sequence in which a, = 2a,_1ifag =28

A. 1 C. 4 E. }
B.3 D. 2 F. %
5). The sequence {(411 + e“)iT-L} is
A. convergent to e~1/2 C. convergent to e? E. convergent to 2¢
B. convergent to € D. convergent to ;15 F. divergent
6). Let @y = 28, @41 = 2005, N > 1, then the n'! term of the sequence is
A. ne C. e’ E. ™!
B. (2¢)" D. 2¢* F. ¢"}
D. The parametric curve T = et, y=te ™ is concave downward for
' 1
At>3 C.t> 1 E. 1>
’ ' -1
B.t<} (o< Ft<3E
). The sequence {":,‘——(El} is
A. increasing for all n > 1 C. decreasing foralln 2> 1 E. increasing for all n > 36
B. increasing for all 1 > 6 D. decreasing for all . > 6 F. not monotone
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9). The Cartesian equation corresponding to the parametric curve T = sect, y = sint —2is

B.y=3—-% D.y=3 Fy=3%
10). The parametric curve T = - 3, y= 12 4 4¢ has horizontal tangent at the point

A (=2,4) c. (-2,5) E. (=2,—4)

B. (18,-9) D. (2,-5) F. (-18,-9)

Problem(2): Fill out with the correct FINAL answer: (2 points each)

(1) Find the polar coordinates (r, @) of the point (—4v/3,4), where r < 0,and 0 < 6 < 2x.

2
(2) Find the cartesian coordinates (,y) of the point (5, 5).
(3) Find the cartesian equation corresponding to the polar cquation

T
r = d tan(f), @ € (0,7) in the form y = f(z). 3 sh—x? \ 6

(4) Find the value(s) of t where the tangent line to the parnmetric curve

£= -GS \ -
C: z=¢', y=e*isparallel to the line 5z +y = 1. —2
(5) Sketch the region that lie inside both curves 7 = 2 4+ 2 cos(f) and r = sin(@) — cos(6).

M T candhind Co eivcle

—
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Calcuty, 2. Final Exam : 1
Boaladicd, : Siment of Mattersatics
= DLy
1 Determine T il
?‘ ife mlltn l[? whatever method you wish, whether the

convergent or "D" if the lerh- is dlwrpr,‘.ntlf'"‘fn‘ series are convergent ar divergent. Cirele

1. 1 (=) (¥ puimes)
@EZ( 2'@‘—_11—}‘-:?:'? ,lz

-~ {r(-,,
“EZry L . EET S | 7

Q2: Seleet the swmn for each of the followlng sories. {8 paiate) l
. = ; —
t- {—}“t—:. 2 ! 3 I ",.']" /.; Z ll ['H- i P ;-r' |
EI e’ | — |l ][ sind i;}. Lo "2!1*]; le || nin'3) ['. i

nlna u,l:-.in
lr-hlh.h!b b

d. 15=m/0. £. 13=-%7T7 { semmil
= A
i+ Ce dogis - C e 0! =
',.,-—'-"'_____'
the form ———— 3 ©
of partlal fractions, there is an equatics of Z-t:-2n3-1

{s the number C

some numbers A, B,and C. What i ¢ -2
€. %

¥

C. _:o d' 1‘

b“";" t:'vnhr equation r? = secfcacd to rectangular o1
- -

2" = (0,
~ Mhsen_otaibi
- »
owing sequences is divergent - o 2o = (08" £
Sa=(0.7)%, ¢ an = 251 d. Ge= V°
e
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(g 4-8)
- Onag = hiltg

hat the sequoence a, dofined by the recurrence relation up = 2 A Banmp
0. Glven tha find Ita "ll’l"-l .
forn=12413," l: crimvurgﬂlll ey d. 6. v, 2. .0
a. 8. ' ]

7. Dutcrmlnc which one ul‘ the rullowlng geometrle nurlm In divergunt,

3 &
~ b r - .
o, ", * .
E(cosl] b 8o ) ira d. } (0.2)% & h
Jr-l
8. Find the Umit of the sequence a,, = ne=n,
a1, hu g €, =mw, l'I' w, o, 2‘ L ”'
fl‘:

9. If the nth partjn] asum of o sorfos )_, Gy In &, = k. Plnd }_,' Uy

LT | -
a. 1, b, -2, c. -1, d, 2, . ! I. -!.
10. Find the nrea of the reglon that enclosed by r .. s,
a. 3m, b, 2x, c d. 4,

“ | n %, L. 9r,
i fatnzien Mhsen_otaibi

— e. -1, ;4,;5'/:2
By using a trigonomet e Mubstitutiog 5 . . 4
Al whers g <0 -~ % the | j -——:‘.
rmed into one uf the fulluw[n;.: Inte nrals ‘ i -1 N o
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